
Assembly of the Wheel 
 
 

The sequence of the tightening of screws is important against self-releasing of the caster during rolling the table. 
 

Accessories:    1 (piece) M16 screw rod & screw knob 
                           1 (piece) 80 mm caster 
                           1 (piece) 16 mm holding mat with spring 
                           1 (piece) M16 nut 
                           1 (piece) M12 self-locking nut 
                           1 (piece) 24 mm Combined Spanner (Ring and Open-end) 
                           1 (piece) 19 mm Combined Spanner (Ring and Open-end) 
 
 
                             
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Screw the M16 screw rod into the M16 splice of the leg system. Screw in the M16 nut, then put the M16 holding 
mat with a spring onto it.  
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



After placing the holding mat, put on the caster. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
After placing the caster, put on the M12 self-locking nut. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Grab the knob screw, fasten it with the ring end of the 19 mm Combined Spanner. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



After that, grab the knob screw and secure the M 16 nut on the caster using the open end of the 24 mm 
Combined Spanner. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Tighten the two nuts with the two spanners against each other with big torque. 

 
 

 


